$$\frac{\operatorname{Proof} \operatorname{cf} \operatorname{IFT} (\operatorname{Thm} 3.7)}{\operatorname{Special} (\operatorname{Gaue} : x_0=0, y_0=\operatorname{F}(x_0)=\operatorname{F}(0)=0,}$$

$$\operatorname{DF}(0)=\operatorname{I} (+\operatorname{tre} \operatorname{Identity})$$

$$\operatorname{Step1} \operatorname{let} \mathfrak{P}(x)=-x+\operatorname{F}(x). \qquad (\operatorname{F}(x)=x+\operatorname{F}(x))$$

$$\operatorname{Then} \exists t>0 \ \mathrm{s.t.}$$

$$|\operatorname{F}(x_0)-\operatorname{F}(x_1)|\leq \frac{1}{2}|x_2-x_1| \ \mathrm{on} \ \overline{B_{r}(0)}_{\bullet}.$$

$$\operatorname{Pf} \operatorname{of} \operatorname{Step1} : \operatorname{As} \ \mathrm{o} \operatorname{GU} \ \mathrm{aud} \ \mathrm{U} \ \mathrm{in} \ \mathrm{open}, \exists \tau_0>0 \ \mathrm{s.t.}$$

$$\overline{B_{r_0}(0)} \subset \mathrm{U}.$$

Then $\forall x_1, x_2 \in \overline{Br_0(0)}$

$$\begin{split} \Psi(X_{1}) - \Psi(X_{2}) &= -X_{1} + F(X_{1}) + X_{2} - F(X_{2}) \\ (\text{prop. 3.6}) &= \left(\int_{0}^{1} DF(X_{2} + t(X_{1} - X_{2})) dt \right) (X_{1} - X_{2}) - (X_{1} - X_{2}) \\ &= \left[\int_{0}^{1} DF(X_{2} + t(X_{1} - X_{2})) dt - T \right] (X_{1} - X_{2}) \\ &= \int_{0}^{1} \left[DF(X_{2} + t(X_{1} - X_{2})) - DF(0) \right] dt (X_{1} - X_{2}) \end{split}$$

AS Fà C', HEYO, Ir>o, (r<ro) such that (DF(x)-DF(0) || < €, Y × GB,(0) where $\|(b_{ij})\| = \int_{ij}^{\infty} b_{ij}^{2} + c any nxn matrix (bij)$ Since $\overline{B_r(0)} \subset \mathbb{R}^n$ is convex, $x_{1}, x_{2} \in \overline{Br(0)} \implies x_{2} + t(x_{1} - x_{2}) \in Br(0)$, for $t \in (0, 1)$ Hence 48>0, Zr>O (rero) such that $\|DF(x_2+t(x_1-x_2)) - DF(0)\| < \varepsilon, \forall x_1, x_2 \in B_r(0) \text{ and } t \in (0,1).$ Therefore $|\overline{\Psi}(X_1) - \overline{\Psi}(X_2)| \leq \epsilon |X_1 - X_2|, \quad \forall \quad X_1, \quad X_2 \in B_r(0)$ Choosing $e=\frac{1}{2}>0$, then $\exists t>0$, $(r \leq r_0)$ s.t. 「王KN)-里(x2) (くらしX(-X2), YX1, X2 6 Br(0). This amplates the proof of step 1 of the special case. It

Step 2 r>0 as in step 1. Then $\forall y \in B_{\frac{r}{2}}(0), \exists x \in B_{r}(0) \text{ such that } F(x) = y.$ And the local inherce G of F, $G_{\epsilon} = B_{\frac{r}{2}}(0) \rightarrow G_{\epsilon}(B_{\frac{r}{2}}(0)) \subset B_{r}(0)$ satisfies $[G(y_{1}) - G_{\epsilon}(y_{2})] \leq 2|y_{1}-y_{2}|, \forall y_{1},y_{2} \in B_{\frac{r}{2}}(0).$

with G(BE(0)) open in Br(0).

<u>PF of Step</u>2: By Step1, me can apply Thm3.4 (Perturbation of Identity) to show that

$$4 y \in \overline{B_R(0)}$$
 with $R = (I - \frac{1}{2}) \cdot r = \frac{1}{2}$
 $\exists x \in \overline{B_r(0)}$ s.t. $F(x) = \frac{1}{2}$.

Then remark (2) (after the proof of Thm3.4) $\Rightarrow \forall \forall \in B_{R}(0), \exists x \in B_{r}(0) \text{ s.t. } F(x) = Y.$

and by remark (3) (after the proof of Thm3.4) (which is the Remark 3.1 of Prof Chou's notes). we have

$$|G_{1}(Y_{1}) - G_{2}(Y_{2})| \leq \frac{1}{|-\frac{1}{2}} |Y_{1} - Y_{2}|$$

$$= 2|Y_{1} - Y_{2}| \quad \forall Y_{1}, Y_{2} \in \overline{B_{1}}(0)$$

Finally, remark (Z) again

$$\Rightarrow G(B_{\Xi}(0))$$
 is open in $B_{T}(0)$.

Step3 G is differentiable on
$$B_{\underline{r}}(0)$$
 and
 $DG(y) = (DF)^{1}(G(y)), \quad \forall y \in B_{\underline{r}}(0),$

Pf of Step3: As
$$DF(0) = I + F \in C^{1}$$
, we may assume that
 $DF(x)$ is invertible $\forall x \in B_{F}(0)$ for the $r > 0$
given in Step1

(Since we may always close a smaller r in the proof of Step 1.)

Let
$$W = B_{\frac{r}{2}}(0) \left(= B_{R}(0)\right)$$
 and
 $\sum_{\alpha \in w} stap 2$
 $V = G_{1}(B_{\frac{r}{2}}(0)) = G_{1}(W) = 0.$
 $W = O_{1}(W) = O_{2}$
 $W = O_{2}(W) = O_{2}(W) = 0.$

Then
$$G = W \rightarrow V$$
 (and $F = V \rightarrow W$)

For
$$y_1 \in W = B_{\frac{1}{2}}(0)$$
 &
 $y_1 + y \in W = B_{\frac{1}{2}}(0)$

we have

$$y = (y_1 + y_2) - y_1 = F(G(y_1 + y_2)) - F(G(y_1))$$

Denote X1=G(y1+y) and X2=G(y1)

Then
$$Y = F(X_1) - F(X_2)$$

= $\left[\int_0^1 DF(X_2 + t(X_1 - X_2)) dt \right] (X_1 - X_2)$ (Prop. 3.6)
= $\int_0^1 \left[DF(X_2 + t(X_1 - X_2)) - DF(X_2) \right] dt (X_1 - X_2) + DF(X_2) (X_1 - X_2)$

Hence

$$(X_1 - X_2) = (DF)'(x_2) y - (DF)'(X_2) \int_0^1 [DF(X_2 + t(X_1 - X_2)) - DF(X_2)] dt (X_7 - X_2)$$

$$\chi_{2}, \quad G(y_{1}+y) - G(y_{1}) = (DF)(G(y_{1})) + \gamma, \qquad \begin{pmatrix} x_{1} = G(y_{1}+y) \\ x_{2} = G(y_{1}) \end{pmatrix}$$

where $\mathcal{N} = (DF)^{1}(x_{2}) \int_{0}^{1} [DF(x_{2}) - DF(x_{2}+t(x_{1}-x_{2}))] dt (x_{1}-x_{2})$

Observes that

$$|X_{1}-X_{2}| = |G_{1}(y_{1}+y_{2}) - G_{1}(y_{1})| \le z |y_{1}+y_{2} - y_{1}| = z|y|$$
 (Step 2)

we have, 1×1-×21>0 as 141>0 and

$$\frac{|\eta|}{|y|} \leq 2 \|DF(x_2)\| \int_{0}^{1} \|DF(x_2) - DF(x_2 + t(x_1 - x_2))\|dt \quad \begin{pmatrix} F \in C^{1} \\ \# \\ \Rightarrow 0 \text{ as } |x_1 - x_2| \Rightarrow 0 \end{pmatrix}$$

By assumption
$$F$$
 is $C^{1}(x_{1}, x_{2} \in B_{r}(0))$, we have

$$\lim_{\|y\| \ge 0} \frac{|\gamma|}{|y|} = 0$$

Therefore
$$G(y_1 + y) - G(y_1) = (DF)'(G(y_1)) + o(|y_1))$$

which wipplies
$$G$$
 is differentiable at $y_i \in B_{\underline{r}}(0) = W$
and $DG(y_i) = (DF)^{-1}(G(y_i)) \cdot X_i$

Linear Algebra \Rightarrow (DF)^T is artinuous. (eg:ming matrix of co-factors) Therefore, by Step 3 (and step 2) DG(y) = (DF)^T(G(y)) is continuous.

Hunce $G \in C^1$. The fact that $F \in C^k(k \ge 1) \Longrightarrow G \in C^k$ is by differentiating the identity $DG(y) = (PF)^{-1}(G(y))$ and using isduction. X